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Time: 2:30 Hours Marks: 75
Notes: 1. Figure to right indicates marks

QI. Answer the following (any 2) (15)
a. What is risk and explain types of risk?
b. Explain investment strategies in detail.

c. The following particulars are furnished about Mutual \Fun‘df Schemes, P, Q and R.

Particulars Scheme P Scfheme'f\Qi " - I'SchemeR
Dividend Distributed* | Rs.1.75 S b T TPRE30C
Capital appreciation | Rs.2.97 Sy "Rs 3. 53 e R8E09
Opening NAV Rs.32 *iR,s,.27!15 ey | Rs.23. 50
Beta 1.46 e g o U C N [ 1.40

Ascertain the Alpha of the three schemes and evaIuate their performance if government of India Bonds
ca:ry an interest rate of 6.84% and the NIF TY has mcreaSed by 12;13%

Q2. Answer the following (any2) ! (15)
a. Define Concepts:-a) Futures b) System Audit ¢) ERM
b) Define role SWOT analysis in risk. - '

¢) Explain meaning and»vc}ifferent forrna ;o:f@;aijtitrage. ;

Q.3. Answer the folloWing--’(’any ) A e kol (15)
a. Explam beneﬁts of corporate govemance g :
~\b Explam technrques to meet stakehoider s expectatlon

¢ ol -Explam,chal‘lenges.of risk assurance,

Q.4. Answer the following (any 2) (15)
a. Explain.’elements and signiﬁcance of insurance securitization.

b. Explain types of life insurance.
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c. Expected losses are given in the table below:

Q. P. Code: 31435

Loss Value in (Rs.) Probability
1,00,000 0.02
20,000 0.08

0 0.9

Find the Fair Premium if:

Q.5.Calculate Beta for each of the following two securities from the given information:

Policy provides full coverage

Underwriting costs =12% of pure premium
Claims are paid at the end of year :

Interest rate =5%

- Expected claim processing costs = Rs.1500

Fair profit = 3% of pure premium
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